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POL, GEO,CA 

1. Which among the following countries are NOT part of Regional Comprehensive Economic Partnership? 

1. India 

2. China 

3. Indonesia 

4. United States 

5. Brunei 

Select your option from the choices given below: 

(a) 1 only 

(b) 1 and 4 
(c)  2, 4 and 5 

(d)  1, 3 and 5 

2. Consider the following statements regarding OIC (Organisation of Islamic Cooperation) 

1. OIC is the 2nd Largest Inter-governmental organisation. 

2. India has the status of ‘Observer’ at OIC. 

Which of the following are correct 

(a) 1 only 

(b)  2 only 

(c) Both 

(d) None 

3. With reference to ore and minerals consider the following  

1. Odisha is the leading producer of manganese only 

2. Noamundi and gua are located in Paschimi singhbhum district. 

3. India is adequately endowed with non ferrous metallic minerals 

Which of the above statement/s is/are correct? 

(a) 1 only 

(b) 2 and 3 only 

(c) 2 only 

(d) 1,2 and 3 

4. Recently the term 'Vasudhaiva Kutumbhakam' which means the “World is One” often mentioned in news 

mostly in the context of India’s presidency over G20 , the term is taken from which of the following? 

(a) Maha Upanishad 

(b) Mundaka Upanishad 

(c) Taittiriya Upanishad 

(d) Mandukya Upanishad 

5. With reference to Jute Cultivation, consider the following statements: 

1. The cultivation of jute in India is mainly confined to the eastern region of the country. 

2. It requires humid climate with temperature fluctuating between 24 degree Celsius and 38 degree Celsius. 

3. New grey alluvial soil of good depth receiving silt from annual floods is most suitable for jute growth. 

Which of the statements given above is/are correct? 

(a) 1 and 2 only 

(b) 1 and 3 only 

(c) 2 and 3 only 

(d) 1, 2 and 3 
6.  A way of life of the people who are required to shift their dwellings frequently from place to place in search 

of pasture for their animals – the mainstay of their economy. 

Which of the following will be a suitable term for the above description? 

(a) Pastoralism 

(b) Transhumance 

(c) Nomadism 
(d) Urbanisation 

7. With reference to the agriculture practices, consider the following statements : 

1. Intensive subsistence agriculture is characterised by high per labour productivity. 

2. Extensive commercial grain cultivation is characterised by low yield per acre. 

Which of the statements given above is/are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

8. ‘AL NAJAH IV’ is a joint military exercise conducted between India and which of the following country? 
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a) Oman 

b) UAE 

c) Qatar 

d) Iraq 

9. Consider the following statements regarding 'Special Officer for Linguistic Minorities':  

1. Constitution provides for the office of Special Officer for Linguistic Minorities' in each state.  

2. Only persons having experience of more than ten years in the field of minority welfare can be appointed 

to the office.  

Which of the statements given above is/are correct?  

(a) 1 only  

(b) 2 only  

(c) Both 1 and 2  

(d) Neither 1 nor 2 

10. Consider the following statements regarding the Zonal Councils:  

1. Zonal councils are constitutional bodies created to promote cooperation among states.  

2. The Prime Minister is the chairman of all zonal councils.  

3. Its decisions are binding on the state governments.  

Which of the statements given above is/are correct?  

(a) 1 and 2 only  

(b) 2 and 3 only  

(c) 1 and 3 only  

(d) None 

11. Consider the following events:  

1. Separation of Andhra Pradesh from Madras  

2. Separation of Haryana and Punjab  

3. Creation of Gujarat  

4. Inclusion of Sikkim in Indian Union.   

Which of the following is the correct chronological order of the events given above?  

(a) 1-2-3-4  

(b) 2-1-3-4  

(c) 1-3-2-4  

(d) 1-2-4-3 

12. Which of the following climatic and topographical factors are beneficial for ‘Fishing’ Industry? 

1. Broad Continental shelf 

2. Indented Coastline 

3. Temperate Climate 

Select the correct answer using the code given below: 

(a) 1 only 

(b) 1 and 2 only 

(c) 2 and 3 only 

(d) 1, 2 and 3 

13. With reference to the ‘Transhumance’, consider the following statements: 

1. It is the practice of seasonal migration among few pastoral communities. 

2. Vertical transhumance implies movement between higher pastures in summer and lower valleys in 

winter. 

3. The Gujjars and Bhotiyas tribe of India practices transhumance. 

Which of the statements given above is/are correct? 

(a) 1 and 2 only 

(b) 1 and 3 only 

(c) 2 and 3 only 

(d) 1, 2 and 3 

14.  Which of the following statements about Indian Ports is/are correct? 

1. Mumbai Port is a natural port. 

2. Visakhapatnam port is a tidal port. 

3. Kolkata port is a riverine port. 

4. Kandla Port is a land-locked port. 

Select the correct answer using the code given below: 

(a) 1 and 2 only 

(b) 1 and 3 only 

(c) 2, 3 and 4 only 

(d) 1, 2, 3 and 4 
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15.  Which of the following crops in india are considered as Kharif crops? 

1. Cotton 

2. Peas 

3. Maize 

Select the correct answer using the codes given below 

(a) 1 and 2 only 

(b) 1 and 3 only 

(c) 2 and 3 only 

(d) 1,2,3 

16.  It is an important raw material for smelting of iron ore and is also used for manufacturing ferro alloys. its 

deposits are found almost all geographical formations ,  however it is mainlyassociate with Dharwar system . 

odisha is one of the leading producer of it. 

Which one of the following is that mieral? 

(a) Manganese 

(b) Bauxite 

(c) Mica 

(d) Copper  

17. with reference to the iron and steel industry consider the following statements 

1. the iron ore for tata iro and steel industry is obtained from noamudi and badam pahar 

2. the bhillai steel plant was established with UK colabration in durga district of chhatisgarh 

3. steek authority of india limited was created to manage bhilai steel plant 

Which of the statements given above are correct? 

(a) 1 and 3 only 

(b) 2 and 3 only 

(c) 1,2,3 

(d) 1 and 2 only 

18. Consider the following statements: 

1. India is the world’s largest producer of wheat in the world. 

2.  Indian wheat has a good capacity of heat tolerance. 

Which of the above given statements is/ are correct? 

(a) 1 only 

(b)  2 only 

(c) Both 1 and 2 

(d) Neither of these 

19. Which of the following is / are qualifications to be appointed as governor of a state? 

1. Should be citizen of India  

2. Should not be resident of the state of which he / she works as Governor  

3. Should have completed age of 35 years  

Select the correct option from the codes given below: 

(a) Only 1 & 2 

(b) Only 1 & 3 

(c)  Only 1 

(d) 1, 2 & 3 

20. Which of the following writs is issued against judicial and quasi-judicial authorities? 

1. Certiorari 

2. Prohibition 

3. Habeas Corpus 

Select the correct option from the codes given below: 

(a)  Only 1 & 2 
(b)  Only 3 

(c) Only 2 & 3 

(d) 1, 2 & 3 

21. Which of the following Directive Principles were added by 42nd amendment?  

1. Equal justice and free-legal aid  

2. Participation of workers in the management of industries  

3.Protection of environment, forests and wild life  

4. Promotion of cottage industries  

Select the correct options from the codes given below: 

(a) Only 1 & 2 

(b) Only 1 & 3 

(c) Only 1, 2 & 3 
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(d) 1, 2 ,3 & 4 

22. Which of the following Statement is Correct regrding the term of Lok Sabha? 

(a) Can’t be exteneded under any circumstances 

(b) Can be extended by six months at a time 

(c) Can be extended by one year at a time during the proclamation of emergency 

(d) Can be extended for two years at a time during the proclamation of emergency 

23. The power of the Supreme Court of India to decide disputes between the cenre and the state falls undr its: 

(a) Advisory jurisdiction   

(b) Appellate jurisdiction  

(c) Original jurisdiction   

(d) Constitutional jurisdiction 

24. In the context of the Preamble of Indian Constitution which of the following sequence is correct? 

(a) Republic, People’s, Democratic, Secular, Socialist, Universal, Sovereign 

(b) Sovereign, Socialist, Democratic, People’s, Secular, Republic 

(c) Sovereign, Socialist, People’s, Democratic, Secular, Socialist, Republic 

(d) Sovereign, Socialist, Secular, Democratic, Republic, Judiciary, Equality, Fraternity. 

25. Which of the following correctly describes the term “Angel Investment” in a Startup?  

(a) Entrepreneur’s own funds/capital.  

(b) Funds taken from banks in the form of business loan. 

(c) Funds raised in small amounts from a large number of people, usually via internet. 

(d) Funds taken from wealthy individuals in exchange for a share of equity in a business. 
 

 


